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GENERAL INSTRUCTIONS:
e This paper is made up of ONE SECTION.
o The Section is made up of five essay type questions.
o invwer any THREE questions in your answer booklet.
o Each question carries equal marks. You are expected to start each question
on a new page.
You are expected to hand ovci your answer booklet to the invigilator before
you leave the examination hall.

Instruction: Answer any three (3) questions in the answer booklet provided.

Question 1
a) _The{_)peralion A is defined over the set of real numbers by aAb = a + b + 2ab. ~
Determine whether or not the operation is associative. (Smarks)
b) Solve the equation log9x — log(x — 4) = 1. (4marks)
¢) Find the first four terms, in ascending powers of x, in the binomial expansion of
(1 —2x)*°. (3marks)
d) Use the answer of part (¢) with a suitable value of x to find an approximate value
for (0.98)°, giving the answer correct to three decimal places. (5marks)
Question 2
a) Determine the values of @, b, ¢, and d in the pattern below. (4marks)
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b) Use Pascal’s triangle to expand (2x + y)°. (Smarks)

From the expansion, state

i) the fourth term,;

ii)  the numerical coefficient of the third term;
ii1)  the exponent of x in the third term.

c) Giventhat 4 = (3 1) and B = ( = _1), find the products AB and BA.

5 2 -5 3
What conclusion can you draw about the matrices A and B? (8marks)

Question 3 ,

1) The second. fourth and the fight terms of a linear sequence (AP) are the first
sonenfial sequence (GP). If the fifth term of the AP is 10

three terms of an exj
and the common differenge is 2.
i.  Write down the tirst three terms of the GP (4marks)
ii. Find the twelfth term of the GP. h (3marks)

b) Solve the quadratic function 2x? — 4x + 3 = 0 by the method of completing

the square. (8marks)

¢) Find the truth set of the equation 8*~2 = 2*7%, where x is a real number.
(5marks)
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- 5marks)
a) Show that logsx = %lngz x and hence solve logs X +3 = logz x- (

. . d nis cost GHC450|
b) 1000 tickets were sold. Adult tickets cost GHCBS0,chil :ieckets of each kind

and a tc;t:r} of GHC7300.00 was collected. How many (10marks)
were sold”
(Smarks)
¢) Given 3x-1 = 1, find 3**%.

Question 5 _ _ 2,7x+6=0, find
a) If @ and j are the roots of the quadratic equation 2x
1. thevaluesof (SmarkS)
.oa+f
. af
i, a?+p° 2 ond G2 (4marks)
11 the equation whose roots are @ -;m é 2 cx + 6 (SmarkS)
. e, _
b) Find the factors and zeros of f(x) =X v
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